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20218 & =0l &t

e
T
ton

SN HS XD
B 200 MEI4e

Ej 210 24 HM2 =8
Ej 211 Moty O =& (cte &
SA-&-2-8-.-5 Ol &4 & Ol &Y Hns
= A 17,649,089 10,850,902 6,798,187
M= X2 ot 17,649,089 10,850,902 6,798,187
200 Al2l=+=¢l 3,480,000 3,480,000 0
210 ZYH M2 +¢ 3,380,000 3,380,000
211 A= 80,000 80,000 0
211-02 s 7 MALU 2 80,000 80,000 0
OSSHEALE SUE 80,000
212 B2 +Y 3,300,000 3,300,000
212-09 JIEtAE = 3,300,000 3,300,000 0
SSHEAE AEE 3,300,000
220 YAZANRA+L 100,000 100,000 0
224 D et =g 100,000 100,000 0
224-07 12 +¢ 100,000 100,000 0
og:x Y F4NE3 100,000
500 2x= 7,829,089 7,370,902 458,187
510 = 12X =S 7,249,384 6,289,820 959, 564
511 = 12x23S 7,249,384 6,289,820 959,564
511-02 SJIZ YR AUSEHNEx= 2,411,000 2,158,000 253,000
OXUIALIME HE 1,911,000
Og2ds Ms2 Ad 500,000
511-03 Jl= 4,838,384 4,131,820 706,564
oAZx=Zxolsd & 262,584
OZMe daM=sXsA Xl 40,932
oget dHMSXEA B X 150,084
Oozd 48NSR i 81,864
ONasld Az BEZAY 60,000
oAz =AR0IZ2A & 17,920
Oy H2UHY M2 & HULE =4 1,400,000
OEtUHHIM S 2 A (HHAM S 2) 2,000,000
OUIBLEE2SE ==AE Hd 180,000
CHINLSHIAY =2AE HA 240,000
=23 ==AE A 60,000
OHEHMESA ==AE o 60,000
ZolAl HISS3 W 20 TV &X 75,000
OHANOIESE ZOHR HAAIL R 210,000
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33,761

8,694
5,715
11,231
18,000
2,304
300,000
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6,340,000
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N = 0] &F AF S & AN A
2A4: MR
M MBS S4
chelr MBS 248 (el @2)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
<Xt 26,134,213 29,496,949 N 3,362,736
= 2,411,000
Jl 4,838,384
= 579,705
Al 11,965,124
TH 6,340,000
MEHs |4 17,743,769 19,922,919 N2,179,150
g 2,411,000
Dl 4,778,384
= 561,705
Al 3,652,680
TH 6,340,000
MEH = 243t 1,661,882 1,748,294 NB6,412
J| 553,384
o 61,705
Al 1,046,793
AR 22X 02H XY 382,120 375,120 7,000
J| 262,584
o=} 33,761
Al 85,775
207 &I & 7,000 0 7,000
02 & AHIJH EHH| 7,000 0 7,000
OAZXHIRH QREESAANAE 29 7,000
301 et A= 375,120 375,120 0
J| 262,584
= 33,761
Al 78,775
01 Al E & A 462 375,120 375,120 0
OAaZ=2x0|2d X 375,120
J| 262,584
o= 33,761
Al 78,775
MEHENAY 2H 28,980 36,288 AT7,308
& 8,694
Al 20,286
307 QI2t0| ™ 28,980 36,288 AN7,308
= 8,694
Al 20,286
02 QI2tAAMAIE E =X 28,980 36,288 AT,308
Odet=wna 29 28,980
= 8,694
Al 20,286
MEH T )H 2 19,050 25,342 NG,292
= 5,715
Al 13,335
307 2Iz2t0| & 19,050 25,342 NG,292




M MEXE 0
M MEHE 24

Ee: MEHs 245t (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 5,715
Al 13,335
02 RIZHE MM E X 19,050 25,342 A6,292
OdgdsZzId 29 19,050
-~HEolMsna(=Ss40l5t) 4,800
= 1,440
Al 3,360
—HAEMERA(E - DSEH) 4,800
< 1,440
Al 3,360
- &=L oS E 5,000
< 1,500
Al 3,500
-~ MEMSUE 2,500
< 750
Al 1,750
- Sgig #A28HsUs 1,950
= 585
Al 1,365
Qo MER SIS XIS EX) 300,168 300, 168 0
| 150,084
Al 150,084
307 glz2tol & 300,168 300, 168 0
J| 150,084
Al 150,084
02 PIZHE M AHE X 300,168 300, 168 0
Ot MEXNSXNEZR JI=23
2,274,000& = 128 » 11H 300,168
| 150,084
Al 150,084
24 MEXNSXZX BIXIOI2EX) 163,728 163,728 0
| 81,864
Al 81,864
307 gl2tol & 163,728 163,728 0
J| 81,864
Al 81,864
02 It M AMHEE 163,728 163,728 0
Oz2d MEXNESXNEX Jles
2,274,000& » 128 * 6% 163,728
| 81,864
Al 81,864
MBS (LE, 0{24) X S SE (KK 73,183 70,720 2,463
2l)
307 glz2+ol & 73,183 70,720 2,463
02 YAFHAANPEE 73,183 70,720 2,463
OMeN=ANE A sl
100,000& = 128 = 179 20,400
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CHSXE Y
CHENE =54
P dEHs 245

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMEXN=SANEZA S|
130,000& » 128 * 17H 26,520
OMENSXNEX HESIHI
300,000& = 23] = 174H 10,200
OMEBHSNEN 422 29
120,000 * 80JH £ 9,600
OMENENEX BHIIMY EE2 M=
50,0003 * 800 2 4,000
OXNLALSH SE2E=
492,456,000& = 0.5% 2,463
dEd=Ual EIF 2 HE X3 256,470 394,400 A 137,930
202 o4l 2,400 2,100 300
01 = LHA YI 2,400 2,100 300
OMdEN=sE RF=THH 600,000& » 4H 2,400
307 izl & 254,070 392,300 A 138,230
02 IZtE M AHE X 22,320 135,800 A 113,480
Os=s8g 249 & d=03z It X 17,820
OZg & d=2 AoE=2Ua &It N3 4,500
04 QIZFHALAIH E = 231,750 256,500 A 24,750
OAEIl B2 MU Hza XN 49,500
- H23s AIEI E3U= 18,000
—Hi182l AIEJI OF2U 2 9,000
—M232 AIZHH BHECGIE i3 5,400
—M53 AIEH II2=Z03 2,700
— X402 AIZJIl HILIATHE 2,700
—HM53 AIZEI ER0HE 4,500
— M43l AIEH O 0e 4,500
— M30& AIEIl HOIE=ZUS 2,700
O83 &I &3¢ MsUsa Mzl XA 128,250
O8.15& =208 =5sd 2 21U 36,000
OUNMIHI It Y DI S &AL 8,000
OS2t MM ALY 22X 10,000
2. 844 532(1-210) 22 27,000 30,000 A 3,000
307 2201 A 27,000 30,000 A 3,000
04 DIZHHALALSE E X 27,000 30,000 A 3,000
02021 &. #4249 £32(1-211) 29 27,000
ZOofC MEMSXEZX HXI(JI2EX) 81,864 54,576 27,288
J| 40,932
Al 40,932
307 izl & 81,864 54,576 27,288
J| 40,932
Al 40,932




M MEXE 0

M MEHE 24

Helr dMEHs 245 (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 HAFHANGEEX 81,864 54,576 27,288
O NS JIEs
2,274,000 * 128 « 3¢ 81,864
J| 40,932
Al 40,932
o MEMSXEX X SEEX (M) 13,820 10,460 3,360
307 21201 & 13,820 10,460 3,360
02 HAHFHANEEX 13,820 10,460 3,360
OZOMQ MEMSANE=X wSH|
100,000& = 12& » 3 3,600
OZOMQ MEMESANEZX S4HI
130,000&  12& » 34 4,680
OZOMY MEMSANE=X EEFIH
300,000& = 23] = 3H 1,800
OZOMQ MEMSANELN =HES 2
120,000 * 2200 A& 2,640
OZOMQ MEHMSXANE=X HXIAYE E22 M
50,0003 * 2204 A& 1,100
Zoe Hsgs N 165,890 257,828 291,938
307 glztol & 165,890 257,828 291,938
02 UAHFHAEEE 46,650 58,500 A 11,850
Osotelgsl el FIOHXE 6,750
- H253 =0t 2dU3 1,800
- M28a3l =0t M=03 3,600
- H128 =0t HOIE=SHS 1,350
OXMZEOHRI 3l CHal FHILXI&A 3,600
—Hi28z EHMOoi0tetEN 2 1,800
—2021E E=XHMEOHL XM=z 900
—M193 HOHIZIINE HEE S 900
OHMI253 A& M=Ua HILXNE 2,700
OIS el &IIX S 8,550
ORM23s Z2d ZUHAMEHSUHE FIHAE 18,000
OHM145 8= ZOstdM=sU2 FIHXS 3,150
OZOHQ MAE EHIHXH 900
Od=HMd & MAd=AUHE JX La= 3,000
03 BIAHNHE2IHIEL 94,040 118,328 N24,288
OZAIZMAMFSE AtR= Q1A (2F) 76,515
-Jl2s &€ M=g 62,203
-HIARES & EARES 14,312
OZAIZMHLM=EE M= 2SI 15,755
OZMABMHAMFE MR= AP S|l Z M| 1,770
04 QIZ2HHALALE B £ 25,200 81,000 A 55,800
OJtYEH tal =l 25,200




2N

=X

HM: MEHE 4
e MEHs 243 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ool M=so0tel X3 31,262 29,664 1,598
== 11,231
Al 20,031
307 2Iz2t0| A 31,262 29,664 1,598
o= 11,231
Al 20,031
02 QIZHEAAIRE E X 31,262 29,664 1,598
OXFMUMESOIE XN (ZEHEX) 31,262
& 11,231
Al 20,031
ol Ax==2AXo2H XA 25,600 0 25,600
J| 17,920
= 2,304
Al 5,376
301 et A =2 25,600 0 25,600
J| 17,920
= 2,304
Al 5,376
01 Al E& A 46 2 25,600 0 25,600
O&FHAUAZT=AFOISH XS 25,600
J| 17,920
= 2,304
Al 5,376
22ATXIZYE 29 I 92,747 0 92,747
307 2I2t0| & 92,747 0 92,747
03 AU EESIHES 92,747 0 92,747
OUHEZAE (B )AZT =28 & 72,747
OstudAAE (st5=Sd)AZ =2 &Y 20,000
HEANE &5 & KBS 16,081,887 18,174,625 N2,092,738
= 2,411,000
J| 4,225,000
= 500,000
Al 2,605,887
TH 6,340,000
NHAIRME HE 4,764,500 3,392,000 1,372,500
Fas 1,911,000
Al 3,500
TH 2,850,000
401 Al HI L £ 0HHI 4,764,500 3,392,000 1,372,500
g 1,911,000
Al 3,500
TH 2,850,000
01 Al& H| 4,259,500 2,772,000 1,487,500
OXNGAIZIXHME A Z2AH 4,259,500
= 1,759,500
H 2,500,000
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Hu: MEBHR 84
Cel: MSAE 85 @ SNES CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
02 2teldl| 500,000 610,000 A 110,000
OFXSGATZIHME HEAIH 2L 500,000
Fag 150,000
TH 350,000
03 A& E2HH]| 5,000 10,000 A5,000
OXGAIZXHME AlEEL0HHI 5,000
Fag 1,500
Al 3,500
gds sz 4 3,997,000 500,000 3,497,000
= 500,000
Al 7,000
H 3,490,000
401 Al HIZL 2 0HY| 3,997,000 500,000 3,497,000
g 500,000
Al 7,000
TH 3,490,000
01 Al&H| 3,287,000 438,500 2,848,500
OZdSH=EH HE A 3,287,000
Fag 287,000
TH 3,000,000
02 22l 710,000 60,000 650,000
OEdSHE2 HEAG2L 24 700,000
= 210,000
TH 490,000
OEASHEE HEZSAF AIEE20HI 10,000
Fag 3,000
Al 7,000
ATH MBUAY YSB L HUAZ A 1,700,000 4,900,000 ~3,200,000
J| 1,400,000
= 300,000
401 Al HI L 2 THHI 1,700,000 4,900,000 3,200,000
J| 1,400,000
= 300,000
01 Al& B 1,700,000 4,700,000 A 3,000,000
O3ZAaA=s2 Y HLULAZ HEZA 1,700,000
J| 1,400,000
& 300,000
2OHAl BICHEI MIS 2 2 (Z0HQ MK ) 2,200,000 1,300,000 900,000
Jl 2,000,000
= 200,000
401 Al HI YL = TH I 2,200,000 1,300,000 900,000
J| 2,000,000
o 200,000
01 Al&H| 2,200,000 1,050,000 1,150,000
OBHUHI M S 2 HE Z2 A 2,200,000
J| 2,000,000
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Hu: MEHS S

of 0x

S HMSAL =5 ¥ BRIP4 EEREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| = 200,000
MsiE UOSERE T4 50,000 0 50,000
401 AlEHIZ 201 Y| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OasSAAZI USEIZ2E ZH AAEH S
o 50,000
HAIE RXES 1,038,660 1,135,928 N97,268
201 et d| 192,660 192,820 A 160
01 AR 22l ] 26,100 22,980 3,120
OZ2ZHMSAE(6MA) It HHEA
140,000 = 6o & * 12&E 10,080
O &Ad|
70,0002 * 150D + 220F * 33 6,300
OMESAE A2 g 2 SIYus
600,000& * 53| 3,000
O2SH=2 =XE MSA 2Xs
200,000 = 12&€ 2,400
OAagtotdzIH=A (N, XHE, stz
Ms2) 120,000 = 3 A = 122 4,320
02 Z=22%H| 166,560 169, 840 N 3,280
OHMSAE 2742 £=46H| 70,000
OME2d £ Ms2 & HIAESE 80,000
OMESAE &bl AMES 8,640
O&¥eX NS (ctes a2 s &4al)
330,000& = 2004 » 12€ 7,920
202 o4 | 3,000 2,800 200
01 2L HI 3,000 2,800 200
OMSANEEY g2F=80] 600,000 = 5 3,000
207 A3 IH | 40,000 67,000 A 27,000
01 A2 E<H| 40,000 67,000 A 27,000
ONMESAYE 229E JIAHNMN 54
5,000,000& * 8IHA 40,000
401 AlEHIZL £ 0HY| 803,000 863,000 A 60,000
01 Al&H| 800,000 860,000 A 60,000
OB3HMSAE FANE* 600,000
OomIazs2=ss® I 80,000
OsS8EAEZXAME B2 WA 70,000
OesH=3d W2+ 50,000
03 AlE 201 Y| 3,000 3,000 0
OMESAYE SANES AEEUH 3,000
CE2HGE 29 81,727 126,697 N44 970
201 et | 9,870 7,870 2,000




M MEXE 0

Hu: MEBHR 84
Cel: MSAE 85 @ SNES (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 7,270 7,270 0
Os=28 M= 4,000& = 1,0000H 4,000
Og=% M= 55,000& = 304 1,650
OMERES 7¢ 1,000
OEE =4t 124,0002 * 504 620
02 =224l 2,600 600 2,000
OEEHSE A2 =4t 2,000
O&Jl, JIEt 213 50,000& = 123 600
307 21201 A 65,473 69,824 A 4,351
05 BIZHRIE 3 65,473 69,824 A4,351
OLEYsE 2g /A 65,473
405 RHoHF S HI 6,384 15,403 A9,019
01 AL EZFH S 6,384 15,403 A9,019
Ocg 7¢ 6,384
- R=PAE= 2,400,000& = 2CH 4,800
= S=PAR=, 198,000& * 8CH 1,584
SSHMSAE NWES(0132) 2,250,000 1,820,000 430,000
J| 825,000
Al 1,425,000
401 AIEHI L 2 CHYI 2,250,000 1,820,000 430,000
J| 825,000
Al 1,425,000
01 A& HI 2,250,000 1,820,000 430,000
OGS E2SE =AE HH 600,000
J| 180,000
Al 420,000
OZIIUSHIYE =AML Hd 800,000
J| 240,000
Al 560,000
Odi=2=2& =FAE o 200,000
J| 60,000
Al 140,000
OWENEIA =ALE MM 200,000
J| 60,000
Al 140,000
oAl M=E33 W gaoug ceTv & Xl 150,000
J| 75,000
Al 75,000
OHAHANOESE Z0HQ HAAIL HA 300,000
J| 210,000
Al 90,000
M4ty 4 213,000 831,800 A 618,800
AEZXOHAE 243t 213,000 831,800 A 618,800
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X XH
L=}

el

=X

D HSMY |4

AZX0AE 43

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SO L M2I2AD e A (AHMIHH) 209,000 814,800 A 605,800
202 04| 3,000 3,500 A 500
01 2L I 3,000 3,500 A500
OAZX[IANE Y =& 0H|
600,000 = 5 3,000
203 ¥ 2 =&H| 10,000 10,000 0
03 Al 2 =& 2 = X H| 10,000 10,000 0
OMSSEHAI 2H X 2 28| 10,000
307 2iz2tol A 196,000 795,000 A 599,000
04 QIZ2tSHALALS B X 196,000 795,000 »A 599,000
OHM23l 2oJtor =t S44E =203 20,000
OHM213 =012 8= 2IE0k32UHS 18,000
OHM23 2oHItoF2 T Hl & =2 MAXEH ) 36,000
OHM9gl 2oHAIEH =2 S52 HLULAWS 9,000
OHMI133 2aAIEH = EF2US 20,000
OHM143 ZaolAIEE &= HISU3 30,000
OM18l 2LHAIZB 2= 3 18,000
02021 Z2MHAIROHEIOIE S EH &= K0l EHOI
CHal 9,000
O &2 & d=2H2 g ol& SXXNA 36,000
MAEH FXNE AZX(OHE 2 4,000 7,000 A 3,000
201 et | 4,000 7,000 A 3,000
01 AR 22l ] 4,000 7,000 A 3,000
OSHAEXNEHA EES HE
2,000& * 2,000 4,000
MEME &4 7,678,524 8,200,070 AB21,546
J| 60,000
= 18,000
Al 7,600,524
delEXM= 43t 7,678,524 8,200,070 Ab521,546
J| 60,000
&< 18,000
Al 7,600,524
=3 29 2,743,847 2,670,592 73,255
201 LBt Y| 106,210 136,950 A 30,740
01 AP 22| d| 57,650 57,950 A 300
Odx==A 22l 2,300,000 = 12& 27,600
OF3C 29| 200,000&  12€ 2,400
O8&) g8 M&E S 11,500
OxEXS SOl AIIE =F
100,000 = 123] 1,200
OFEFC Z2Nsa & 10,000




D HSXED
L H2HS 84
D ARAEHS A

Y. B (3H) - HEAY - BES o A o SSa H RS2
O8ZJ 252 A ZHl 330,000& * 153 4,950
02 332494l 48,560 79,000 A 30,440
ONE=d TAIARS 750,000& « 12& 9,000
O =xg sl 13,000
Olx=4 =HSXHI 1,000
ORI 2EE 1,000
Ou44 SEHY L TVAUE
380,000& = 12& 4,560
Oecld A3yl 20,000
202 O B 1,400 1,400 0
01 2L Y] 1,400 1,400 0
Ot &N &3 bl
100,000 + 1Y = 143 1,400
207 A SO | 77,000 0 77,000
01 A2 E 49| 77,000 0 77,000
OZAE SRS Holg EEYd RS 77,000
301 et X Z 2,550,237 2,531,242 18,995
09 HALAHIXI &= 27,450 46,150 A 18,700
O=d)| HMNIHERI AU E2AH| 26,450
-otZEY 59 300,000& * 153 4,500
-SgA 2Y 400,000 * 153 6,000
~ZU OtLE A 200,008 * 153| 3,000
-HeE B 2,000
—Jl=R(20], W)
70,000& * 2% x 153 2,100
-2520| 25,000& + 104 = 153 3,750
- A& 3| 50,000& * 4% x 153 3,000
- S AlE 2| 7,000& * 204 * 153 2,100
ONMEHA gsHl X& 250,000 = 43| 1,000
VU= - 2sRESE242 2,522,787 2,485,092 37,695
(@eiPall 1,518,700
-Ja22 1,494,700
-Ex4 9,600
o < Xt 40,000& + 104 = 12& 4,800
2IIE 20,000 » 204 = 12& 4,800
-5 gsHl 1,200,000& = 12& 14,400
(@)=4=:X~3 209,887
—dat MHEEZ 15,000
-4 282 1,771,700,000& * 11% 194,887
O8 A3 50,000
Ozdtl 328,860
-g==dbl 650,000 * 3/5H * 128 273,000
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M MEXE 0
AN HEHE 24

te: delEd=E 43t (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- &8 XE&H| 84,000 * 3/vH * 19¢ 55,860
O=zdE3 8 2| 48,020
On =t 48,440
Otz &&dl 88,200
-cld, FAZ S 84,000 * 3»YH * 17 49,980
-d=2MAE S 84,000& = 35H * 13 38,220
ORxd=X& 222,800
-agatt TAS(s2x=H)
18,000,000& * 10& D] 180,000
-6+ 2RI 30,000
-8 XAHl 200,000& = 2% * 12& 4,800
-2lRs A= 8,000
O2d EAlH| 2,500,000& = 23| 5,000
ODEAZT E&E0Hl 72,0008 * 4H % 10 2,880
405 KHo&HFE S HI 9,000 1,000 8,000
01 JHMHE 2 Z F S H 9,000 1,000 8,000
O=4 MEI 2¢ 750,000& = 2CH 1,500
ogg2XxI 2 7,500
oI 24 1,650,208 1,911,810 N 261,602
201 Yer2 | 17,080 22,360 15,280
01 AtR 22l ] 6,000 6,000 0
O 29| 150,000& = 12& 1,800
ONfE=A MEARE 12 250,0008 * 128 3,000
OK=Xt2 SIolIHAIIE &H
100,000& = 128 1,200
02 3524t 11,080 16,360 AN5,280
Od=xtgd 282 1,000
Odz==a 2HY & TV=AlE S
300,000 = 128 3,600
Odx=Xte KXY 540,000& = 128 6,480
202 04 d| 1,500 1,500 0
01 2L Y| 1,500 1,500 0
O &EN ESR2F bl
250,000 * 29 = 33| 1,500
301 dBEtEX = 1,628,128 1,887,950 A 259,822
VU= - 22242 1,628,128 1,887,950 A 259,822
(@)Fal] 976,800
-J|23 960,000
-IExY 9,600
Hi < Xt 40,000 » 10¥ = 128 4,800
ERION: 20,000 * 20¥ * 12& 4,800
-Z=SE=H| 600,000 = 128 7,200
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M MEXE 0
AN HEHE 24

chel: dwelEXS B (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OB&g= 127,498
-~ MEEZ 11,250
-4 282 1,056,800,000& * 11% 116,248
O8&Z 48,000
@30l 246,600
-&=sdt| 710,000& = 259 * 128 213,000
- & X =& 84,000 » 25H * 16 33,600
Osdgsayl 41,080
(@E==1s] 25,850
Ozl =& A 84,000 * 259 * 20 42,000
ORxdX&A 116,400
-3 gaxt ZAZ3 70,000
-8 XL 30,000
-8 XEH| 200,000 * 2 * 53| 2,000
-2 ESLASE XIS
200,000 * 6YH = 12& 14,400
O&HA EAH| 1,500,000& * 23| 3,000
OZEAHE X0 150,000& * 63 900
405 Ko SHI 3,500 0 3,500
01 JHMY =2 ZF S H 3,500 0 3,500
Oo2clxzl #¢ 3,500,000& * 1CH 3,500
“To 2y 453,880 448,480 5,400
201 Bt A H| 38,900 36,200 2,700
01 At 22l ] 32,080 31,540 540
ON4E=A 29| 12,600
-2 iz 450,000 = 2XxH ~ 12& 10,800
- MEADE 2
150,000& = 12& 1,800
OdXte A= 745,000& = 12& 8,940
Od==Xt S0l AIE 5™
100,000& = 12& 1,200
Osdd AIES2 690,000 = 128 8,280
OJIEtx=2Hl 1,000
OxExzg2 60
02 3524t 6,820 4,660 2,160
O TAINA 22 130,000& = 12& 1,560
OX4E=A I & Vb2 S
50,000& = 12& 600
Odx=Xtg KXY 2,160
OHHE 3 b 2,500
202 044l 1,000 1,000 0
01 2LHOHI 1,000 1,000 0




M MEXE 0
AN HEHE 24

chel: dwelEXS B (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OU3Ed &2 bl
100,000 * 29 = 53| 1,000
301 deEtE2dZ 411,880 411,280 600
Vo=t - 2sSFSEA2 411,880 411,280 600
O] 238,800
-J22 237,600
-d =g sl 100,000& * 120 & 1,200
OB&8g= 30,500
-4 MAEE R 3,000
—-40 282 250,000,000& * 11% 27,500
OEAZ2 7,000,000& * 1H 7,000
O=&t| 52,680
-g=&dtl 710,000& = 5H = 12& 42,600
- &8 XE&H| 84,000 » 5H x 24 10,080
Osdg3 7Yyl 8,400
O = 6,500
Oz &l 84,000& ~ 5% 30 12,600
Ofa=d=X&A 54,400
-3l gaX TAZ 600,0008 = 5H = 43 12,000
-2 S| 40,000
&= (A2) 25,000,000& * 1H 25,000
&4=(83) 15,000,000& * 1H 15,000
-t ES S K&
200,000& * 14 = 1204 & 2,400
O EAH| 1,000
405 XtabE SHI 2,100 0 2,100
01 AL 2B F SHI 2,100 0 2,100
Od==2 HEI 2 750,000& * 2CH 1,500
ONge=4 HAD| 2 300,000& * 2CH 600
AZHE 2 187,175 300,000 A 112,825
308 AXISHAMSOIA 187,175 300,000 N 112,825
N 3IN2SHUHSZEAHAE ALY 187,175 300,000 N 112,825
OMAE 29 187,175
SAE AT DY 2 25,000 0 25,000
307 QI2t0| ™ 25,000 0 25,000
02 DI2HEAAIEE X 25,000 0 25,000
Of4d 570 29 20,000
ORA4dE s2lns 249 5,000
M E=PNE] 280,000 605,000 N 325,000
307 212t01 & 5,000 0 5,000




M MEXE 0
AN HEHE 24

te: delEd=E 43t (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
02 DIZtZAAMEE X 5,000 0 5,000
OsStES2(2Y) &t 3EX X2 (ZalAl
[LIAE3]) ,000,000& = 1A 5,000
308 AXISHXSO0IH 275,000 605,000 330,000
08 WEII2MHstE = 275,000 605,000 330,000
OusXad Nxdls BXx3 240,000
OSMNIsE H(1EX) NS (ZHaAHST)
5,000,000& * 1JH 24 5,000
Odold o782 =&Hl K& 30,000
M=z =3 & &It 2,218,414 2,264,188 N45,774
202 O B 4,000 4,500 A 500
01 2L Y] 4,000 4,500 A 500
OMENIAEY LR=X0{H]
(600,000€ * 5% )+(1,000,000& * 1¥) 4,000
203 YR =&lY| 2,000 2,000 0
03 Al =X H R =X Y| 2,000 2,000 0
OMEMEUHs Hzl £ M RFAY| 2,000
307 212t01 & 2,212,414 2,257,688 AN45,274
02 DIZtZAAMEE X 1,007,000 1,095,900 A\ 88,900
OHM6e0s Z2ALY0H=US &I XN 383,900
-SOMAE ESXH| 190,000
-COIHAE =4It 155,900
- AAUAT B2 L oHEAY| 38,000
OZ0MAEUE 28> 84 XN 388,800
OHM508 d=2AEM=U3 Ot A 4,500
ON=U3Z LaX Aei=a K& 36,000
OULEN= JASSHAH XA 57,600
OUHNSstn wIE=S d3Us It XA 10,000
02021 A& Al&A 2 HF2 &
A K2 7,200
OIts=dIE 298 X& 15,000
Oosted =2 298l X 15,000
OFEFMMESSE 224 AA 17,000
OZdotIlgs 44 AA 72,000
03 AN EE2IHEX 1,205,414 1,161,788 43,626
OM=E3 AR= 29| 68,000
OM=s2 MR= N2 20,000
OM=E3 AIRA Xz 40,000
ONM=3a ¥ A AIRA &Iz 25,300
OM=S3 AIR=2 =& oAHH|(9Y) 451,889
ONE3 HASAERA olAHY| 35,600




=X

L

=M=s g4

D UCEMSE 243

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXM=3sl delEDX oAbl 554,299
OM=3a AIR= AF Scl=4] 10,326
Jtated AT EgAtY 120,000 0 120,000
J| 60,000
< 18,000
Al 42,000
308 XIS 60,000 0 60,000
J| 30,000
< 9,000
Al 21,000
08 WEJ| 20t X 60,000 0 60,000
OJASa AXXAN BZAN (AYxE) 60,000
| 30,000
< 9,000
Al 21,000
401 Al Bl 2B 60,000 0 60,000
| 30,000
< 9,000
Al 21,000
01 A& HI 60,000 0 60,000
OIS AZXAM BgAG(Jt0rE =22
EIx=2¥) 60,000
| 30,000
< 9,000
Al 21,000
HH2LSZH(MS XA D) 74,920 106, 160 A 31,240
Jl234l 74,920 106, 160 A 31,240
JI23l 74,920 106, 160 A 31,240
201 LB-2dH| 35,920 37,400 A 1,480
01 At 22l 35,920 37,400 A 1,480
OJIZ2Ae 8 FHI 7,700
O=SAD Xtz 260,000& = 123 3,120
OJIEt==EHI 10,300
O0f2t & FLZ2X =S4l
740,000 = 209H 14,800
202 oddl 33,600 63,360 A 29,760
01 = LH o4 1l 33,600 63,360 A 29,760
OnEBE JI=2gRF&HHI
140,000& = 20H 128 33,600
203 PR =&l 4,200 4,200 0
04 EA2IEIRFA 4,200 4,200 0
ORAN2Y HEF&H| 350,000& = 12& 4,200
204 MR=HAH| 1,200 1,200 0
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